@ x*+2x-3=0[-1]
® 2x2+x—15=0{g}

® x2-9x-22=0]11]

@ x*-9x+20 =0[4]

@ x> +4x-12=0]6]



2. 2 taxt4=09 % 20| 1, b W, a, bO| FL 22 Fotolal,

‘é,":a:



A (x=2)(x+5) =09 & o}H?

= @ x=-2EE=x=5

@ x=—2E=x=-5 @ x=2FEx=-5



4. ThE AR F St ohE sk

o (vig)(e-g)=0 @ (Gra)(G-4)=0
® (Bx+1)(4x-1)=0 @ (4x+1)(3x-1)=0

® (6x+2)(8x-2)=0



[\ ™
| o |

I
N R N
H B H

— [ [ | N

R R
© © ©






ShH?

Aa?-2x-15=09 &+

ki

o=}

7.

@ x=-5x=3

D x=5, x=-3

-5

@ x=-3, x

@ x=15 x=1

-3

® x=-5 x






9. x7b-2, -1,0, 1, 24 W], oA AA x* —4x + 3 = 09] S|=?

® x=-2 @ x=-1 ® x=0
@ x=1 B x=2



P4 2 4 204 A = 0 9] 0] x = 3

17

o

10.

® =10 B3 -8

D =15



11. ofxA A 2 +ax+b=0Y 7t x =2, x=-4 L W, a+b 9
e Fofoler.

s
=¥



12.

xo] T O AA 242 — 11x +a = 09] G 2
a2

@D 14 ® 13 3 12

filo



ol 2x2—ax+5a+4=0

o 29 W, a2 9 gL

@ 13 3 16 @ 18 3 20

D 9









16. & 3 (x—1)(x+2) =07 &2 227

D x+1=0FE=x-2=0 @ x-1=0FEEx+2=0
@ x+1=0F=x+2=0 @ x-1=0EFE=x-2=0

B x—-1=0EE=%x+1=0



1
H

)
H

1FEE=x=2

X

)
H



=0=2E24
o| AP A Al 2x2 4 3x — 2

18.

x=2

A

@ x=-1%

)
H

1
H

— I

X =

(o}

il
H

— |

A
H

® x=-2



)
fife)

ju—

Ho

9,]

AP AL 62— hx 46 =0, 12 =9 =0

19.

@ x=0 @ x=2

@D x=-3



20. x?+2x-63 =0 9 & Fstoizh

LG =

Lo =



21. oA A 242 + 6x —
Tofolet

ge
»

a=09 3

z
rd
N

fijo



22,

x of] TSt o)z}
e o 2o A 7

4

S



DO x=0E=x=3

0EEx=2

X

)
H



24. 3% +5x-2=0% AdFEMotH (ax+b)(cx+d) =07} AL

o, a+b+c+d2] S otz

e =
c

T

[l
=



25. O|xPHAA 2x2—4x-3 =0 9] T 2L a g T uf, 242 —4a ©] FH?

BA

D 1 ® 2 3 3 @ 4 B 5



%%Q,XQ—QX—?):OQJ

H_OL
o

Al x2-x-1

vzel

%

o

’I_

S

o]

26.

,@® —a—b*+2b o] Fh2?

SH
=

@ 1 B 2

® 0



